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If she would demand from him, etc. - 915 7199 van YR

Overview!

X217 explained that the 110X of one who was X 9¥ X2 is prohibited, even though it is
a case of n"2%p and if she would demand payment from him, the 7"2 could not
obligate him to pay, nevertheless, it is 7MOX. Our MdOIN explains why indeed it is
770X if he 1s not obligated to pay.

mooIn responds to an anticipated difficulty:?
= 198N NN NPT (0w n30 91 3091 DAY DMNIPINT 2) DY N

Even though that in "'y noon, the X711 establishes the case of 110X, where the J1nR

is already in her courtyard, so she already acquired it through her 23, nevertheless -
= ANnYYa NI RN NN 2XWN XD YON) NN KD Nt DyLN

The sheep would not be forbidden for this reason that she acquired it, for it is not

considered 1R, but rather merely a gift, since it is a situation of n"2%p, where he cannot
be coerced to pay her, therefore it should be considered a gift, and not janX-

mooin explains why indeed it is considered 30X (and not a 71nn):
= NN NN NY 2N NPT DIVN XON PIUNTI PANRT NIYY 9P

And the main reason why it is 110X is as the X713 concludes here, ‘because he
gave it to her, it is 3108’ -

= 698N IV NN KD 1PN 5090V ¥ NN NY NNY TAINY 11D VIO
The explanation is; since he is required to give her the 110X in order to fulfill his
obligation to heaven, even if the sheep was not standing in her courtyard, therefore

!'See ‘Overview’ to the previous 11n% 77"7 '01n.
2 n1poIn is now assuming that the question of 130X 772 27 P M7 13 MR 7 121 772 AY2AN °X, is that since in actuality she
will not receive it, so how can this sheep be considered 710X, therefore N1901n has this following difficulty.
3 The rule by 130X is that if he gave her the 110X after the 7X"2 it is not considered janX. The X713 there establishes the
case of 71NX where his sheep was in her 7%m, and he told her that she should acquire the sheep when they are intimate.
Therefore she certainly acquired the sheep regardless of n"2%p, because it becomes hers as soon as they are intimate.
What does X217 mean that if she would demand it, we would not force him, but it is already hers?!
“ He does not owe her this sheep; the fact that he gave it to her and she acquired it, does not make it 110X; this transaction
is considered a gift, but not payment for services rendered. X271 meant to say that since if it was not ;17%¥13, the 7"2
could not coerce him to pay her (on account of n"2%p), this proves that he does not owe her the sheep as payment, but
rather she acquired the sheep as a gift, and a gift is not considered 110X (which is payment for services rendered).
5 mpoIn is (seemingly) saying that n"2%p only means the 7"°2 cannot coerce him to pay, but in reality he owes the
money, and in order to be a righteous person and fulfill his duty to 7, he should pay, even though he is ann 2.
Therefore when he gives her the sheep it is considered a payment of 11nX, but not a 71nn.
® However if it is not 77%¥n2 (even though he is obligated to give it to her aw 7> N, nevertheless) it is not considered
710X, since it is given after the 7X°2 (see footnote # 3).
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(when it is 77°%m2) -
= 7119999 N1 1) N9 NINN X PION IYUN

It is considered 310K, but not a gift, similarly here by 72°13, it is considered a valid
sale —

mooIN proves his point that even by n"2%p there is an obligation to pay in order 21w >7° NRYY:
= DIV 2 NN 1N 29NT (0w &,xy 97’y xa2) DITPIDN NN 99IWNA YNHYN 199

And so it seems in 2°%¥1277 NX 2297 P70 that he is obligated to give payment in

order I 97° NRXY -
= 9INY DA /N N99Y 0P 77 aYUM NPV ha W NY90 NN DOIND 0NN IINT

For the X773 rules there, one who muzzles a cow and threshes with it, he receives

lashes and pays four 227 of food for a cow and three 2°2p of food for a donkey -
- 1N Y N2 IDION 199N NION PNN N9 PIUNI DYUM NP9 PRT )Y NP XM 70999

And the ¥773 asked, why should he pay, since we have an established rule that one
does not receive np» and pay as well?! And 821 answered 995K 77710 798K 1NN
R DY N3 —

mooin asks:
= IP9IN (0w §,ay 97 P9710) DI 99D Ja 99927 9NN ON)

And if you will say; for the X773 relates in ;779921 9919 32 299 that -
- 1113’53‘,7 N9 199115 1199979IN 1°n9nNNna [29999] 1Y 122N Na9

Rams were stolen from X219 by thieves burrowing under the walls; the thieves later

returned the rams to ¥27, but he did not accept them, saying -
- 19793539 05727 297 1712191 PN NN

" The 21 (even though he cannot be coerced to give the buyer the animal [on account of 2"29p, nevertheless) in order
"W 7 XYY, he must give him the animal (in exchange for the figs), therefore it is considered a valid 7.
8 The case there is where 72181 rented an animal from TWnW in order to thresh his grain. Nwaw assumed that his animal
would be able to eat while it is threshing (as the 710 rules W>72 W donn K2 (in 7,75 [R¥n] 0127). However 12180
muzzled the animal so it could not eat. 121" receives Mp?n for transgressing the W% of nonn K?. In addition he must
pay 1wnw for the food he withheld from the animal.
9 See '01n there X232 71"7, that MO is 0713 in the X3 the words 2w >7° NR¥Y X33, and that is how X327 explains the
rule by 7n°om, based on the rule by 710X that in both places he is 0w >7° nX¥? X2. Therefore he pays by 72°0m and it is
considered an 110X since he needs to pay if 0w 7 nR¥? R2. See ‘Thinking it over’.
10 The term nannn refers to stealing something by digging under the walls and stealing the items. The rule is that if the
owner catches the thief while he is digging, and the owner kills the thief, he is MW, since the thief forfeited his life by
digging into someone’s property.
1129 ruled (there) that if a thief stole utensils NINn»2 he is exempt from returning them. The reason is that since the
nnnna X2 has forfeited his life, for he may be killed by the owner (see footnote # 10), therefore the rule of »n"a7p
applies, that since there is a 7n 7°7, there is no monetary payment. The stolen items remain by the thief, and 7""2
cannot make him return it. Therefore the rams belong to the thieves, and %27 did not want to take a gift from them.
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‘since it came out from the mouth of 21 that the thieves acquired the stolen goods
with their blood’ -

- 91735925 NY ONAN DY 715 NNSY 19290 191 ON)
And if (as Mmoo is saying here) they are liable to return the rams in order 37> nRXY
a»w, why did X271 not accept them —

n190IN answers:
21290 12 INNY 29a39NY DNV PHY DIVN XIHN DIINN 1N XY DNY 99D U»

And one can say that the thieves were not returning it 2°»v >7° nxx%, but rather
because they assumed that they are legally required to return them.

Summary
The reason why & ¥ X2 "5R) 7710 770K 730X is that in order 2w >7° NXXY one must

pay even in a case of n"2%p.

Thinking it over
In the case of 110X, if he does not want 2w >7° NRYY, is it still considered 13nR? What

about in the case of 7»°0m, is he obligated to pay if he does not want Donw >7° NRY5?
How about in our case of 'm '7, if the thief does not want to give him the animal nXx?
DY °7, 1S 1t a valid 177°on?

12 However had they known that they are not obligated to return it 1777 13, they would not have returned it 7> x>
21w. Therefore X271 did not want to take it from them under mistaken assumptions.
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